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Solvmg Systems Graphically Using TI

For each of the following pairs of functions:

a) Find all points of intersection, rounding to the nearest hundredth
b) Find all values that satisfy f(x) = g(x)rounding to the nearest thousandth

1. f(x)=x2—4
g(x)=2x+2

-1.45,-.44)
(3.b3, 4:24)

= -[.b4b
s 3.04b

f(x)=log; x

gx)=(x-5" |
66 A | 94\\ Y= %.56%
[b34167) | x= 024

X=Y

f@)=2
g(x) = (x-8)

(4, 1b)

% Fx)=3x*-8+9

g(x)=2|x[-2
(-738 12.50)
(726,12.9)

%= -1
x="1

2.

fx)=3"42
g(x)=—;—x+5 ‘ B o
(b00c0) | X= ">
(229,b.is) | x= S-S
, J@x3) |
, g(x)=—x -3x+4
(2.4],54)) | x= 241/
(259 [ x=.diy
7(x) =log, () +2
g(x)=——1—x+10
H927%59%) X=4g.075
(43.0% ;qq) |
f(x) 0.4x° —4x° +9x
g(x) 5(2)* -8
(A83,19%)  %=-0%7
(-q@/ - %43) X= —.495Y
(-.66,-482) %= -.55
'[‘L%}, q.3y) = |3
C 3 .79  X=3.06¢



9. Jf(x)=100(1.16)" 10 f(x) =800(0.8)
g(x) =5x" +50 " g(x) = 200(1.2)*

(-414,72.52) X=-2137 (372a05) /3@30419
(b5, 4 10) | xmbisgy (342373) -

© /() =2000Inx 1o J(¥)=2246-TlInx
- g(x) = .8(x-52) ‘ ' - g(x)=2155-31Inx
(2o, 149841 (= 2.4¢g (.73, dos448)| x= 9.2

(léqﬁ%’/ld)ll,bﬂ x= lb4.080

13, [ =12 =3x" 12 f(x) =124/x+100 +57
' 14,
g(x) = -log, x-50 g(x)=_%|x|+212

(3.03,-50.09) | X=3900 | |
(-3l [ = (331 1Gs.49) | vm32.007

\

15 f(x)=-1(x+23.2)* +1492 16 f(x) =12000(.64)"
g(x)=2.9|x+50]+739.6 g(x) =9000(1.14)"

(H00. G, g7 29) [X=—0957 |
(45T 001)  [xedsag (5U.qh2d K& iy




